2 ~2=2m £ L+ = 1~
LR AN Tl s

mx| ey | e | B | T ﬂﬂlﬁiﬁﬁﬁﬁ el BT
U e e ore | oo | ooos n |wxE |mEw
2 S 0382 0000 4.4 FEE |BEEH
3 HHHES 1018 0000 5.35 FEE |BEH
4 PEFTEE | E/NER 0060 0041 2 PEZEE  |EEH
5 FEF9ER | TE/NEE 0060 0049 10 ¥R (REEH
6 PaFTEE |7/ INER 0032 0027 21 PEZEE  |EEH
7 lmrer orer | ooz | oo 0 |wkE |mEH
s |wee [mre | oo | oos s |wpE |wmw
o |wmer [ | oo | oost s |wpm |wmEw
0 (e e | oo | oo ) |erE |wmw
0o lse [mie | oo | oo L |exe e
e [mie | s | ooor L |eze |wew
3 ols e =0 | owon | oo 6 |wpE |mEm
4w & =0 | ooss | oo ) |erE |wmw
15 122 B |=/hEg 0084 0001 3 PHEE  |BEH
16 |5#FBER 0022 0000 2 FEE |EEH
17 |sffEEL 0170 0000 5 FEE |BEi
18 |WHEfEEZ 0174 0000 15 FEE  |EEH
19 |[JHFEER 0328 0000 1 FEE |EEH
20 I VavANEY 0008 0022 6 PEERE  |BEHR




